W OB @ B %
@ Wl e om | omow |we— ;5‘ - fi5%
(it A=A 5R =]
({1 +T0)
PEHEI T +- b m3 590 592.0
¥ sy T +w m3 590 592.0
(R 722 1)
E¥+T PRAE L b m3 40 37.6
MR T WA A m3 30 30.7
P ALy T +-7b m3 3 3.4
F AT FALH T N¥a—b7'FZb [ m2 41 40.6
SR AT PR R T A | AUmaT i 280 | o130 X £25 X h1oool & AT 18 18
a7 HIFLT ¢ 42 X 380 m 7 7.0
STILA~ AT EER 1w 130 X 125 X h1000| % AT 18 18
MR Y] T w29 X t25 m 133 133.2
HEE TS L D19 m 151 151.2
7 —F LT ERE T D19 fi T 18 18
7)) —-bEM | R (BIEIER) | m3 0.2 0.2
1)) by | R (BDEIER) | m3 0.2 0.2
AR AT | AR A U T D16 t 0.46 457.8
a7 573 ] 7 T D16 t 0.46 457.8
TLUT R D16 & T 58 58
TRt T | FBOM AT m2 41 40.6
FEBDM AT T | 1=33mm_3[EE0 [ m2 Al 40.6
FBUR AT t=1mm m2 42 42.0
£ BT m2 42 42.0




@ Wl e om | omow |we— ;5‘ i@ - %
=TT m 9 9.3
(TEAERA 1L 2518 1)
H LY LIE L Ty s m2 8.8 8.76
a2 )—hHIFL T ¢ 29 X300 L 124 124
7vh—1 D19 7N 124 124
SN A D16 kg 138 138.0
D13 kg 81 81.0
2/ )—h 24-8-25BB m3 3 2.6
T m2 15 14.6
WAERG 3 T E#EEy—7v | F30TDUR%:M | #i 4 4
F30TDIA] %% i H 2 2
R T ST A 6 6
FHRLT T fE5 BT A 4 4
e TE L A 4 4
i O N 4 1
a2 ))—MHIFL T ¢ 32X 340 fL 16 16
7T D22 %N 16 16
AT T | AL FTIA ARG | A 168 168
(i T)
yz” AR #m2
PR T Z2m2
KAFOHT (1) | dlfp-zem k| B 62 62
KAHDHT.(2) X E. iR 39 39
317kg
BE7 AT 49 ) T - JL5Y X 1 1




= \
B = B OF X
(. ) e O
o 4 e WO HANT ) E 5
THAER T m3 400 399.3
ORI T RC-40,t=10cm | m2 158 157.8
KB R B T $ 800, BB TFL LG m 7 7.0
THEHERHRET m3 420 415.1
D A IA - TR m3 590 594.8
AT m3 480 478.8
HEEIHEAK T = 1 1
[#1E T 5]
(F& A& 1) 0.021m3
& G A& 1 Wi fEE T |mgsyo—vitersn| & 1 1
1.550m2
FEpEE T FEALEE T LT i 1 1
1.550m2
TE®H T S Tl S Py 1 1
1.550m2
&y T VR s S VN B 1 1
1.550m2
T BifEn T & 1 1
ARG T SKBGEE T | wior—ryrr a2 11 11
SOREMEBE L] LT T L—h FtyhEte A 4 4
A B T L 4 4
(FER T.)
ER 7 my ) 278 & 114 114
IR 7wy )AL 2.5tLLF 18] 114 114
W H 5 A E s T t=10mm m2 264 263.8
RN 2 7] 1% 11 11




I T ERER

4 N b57) & ==X {yA % = i
PRHEI T +-Hb m3 592.0
RS T +Hb m3 592.0




+ T &t A W
PE ] T ()
il J=y OBt WrmfE  CPmE S B 5 = H =y OBt WrmfE P mE S B e}
(m) (m2) (m2) (m3) (m) (m2) (m2) (m3)
- 50.00 6.5
25.00 7.00 | 175.0
- 25.00 7.5
16.70 10.85 | 181.2
- 8.20 14.2
8.30 14.20 | 117.9
+ 0.00 14.2
8.30 14.20 | 117.9
+ 8.20 14.2
& @ 592.0




@R T 4EEHR

ZA B =X (A G 1
(E¥+T)
PR T T m3 37.6
HRT s AT m3 30.7
7 Ay T - m3 3.4
(M ALEET)
KPR T NE2—=LT TA m2 40.6
(B R e 1)
BFL A a7 A~ — 20 1| w130 X t25 X h1000 | AT 18
a7 AL T ¢ 42 X380 m 7.0
a7 AN =AW S T w130 X 25 X h1000 | f&FT 18
PEFREEIHE T w29 X 125 m 133.2
PEERIE A T D19 m 151.2
T—F LI EET D19 (AT 18
) — b I (BDHIE%) m3 0.2
2 )Y — bR Gy HER (BIHI%) m3 0.2
(8 U 1)
A5 B B T D16 t 457.8
7 K A [] 7 T D16 t 457.8
VT T D16 & FIT 58
(PR e T.)
T@ROM AT T m2 40.6
DA AN T t=33mm_3[F[¥:Y m2 40.6
RO MERAL T t=1mm m2 42.0
tE EFMEsAn T m2 42.0
=) 7T m 9.3




Eaaiir i H K B &
(TF¥E+T)
PR L BN
4 (AGER) 1/2 X 520 X 050 = 1.30 m3
520 X( 1.8 + 430 + 1.85 )= 41.60 m3
1/2 X 520 X 0.50 = 1.30 m3
LR S R
£
- 1/4 X T X 1.20 24
.20 X 3.10 )X 062 = -3.01
JECR
- 1/2  X( 140 + 3.00 )X 0.30
X 5.50 -3.63
SV = 3756 37.6 m3
MR T &Y PERR
HEEA £
( 1/4 X T X 1.268 2+
1.268 X 3.10 )X 0.62 = 3.22
JEEHR V. = 363
SV = 6.85
HRL L& = K@K — HEEERAE
= 3756 - 6.85 = 30.71 30.7 m3
7% 45 T
37.560 - 30.71 /  0.90 = 3.44 3.4 m3




& B i H KX =
(I T)
FHEALEE T NF¥a—LTFAR
A E 1.000 X n + 3100 X 2 9.342 m
TiEE 1.200 X 7 + 3100 X 2 9.970 m
9.342  +  9.970
> X 4.200 = 40.555 m2
A 40.6 m2
(BRApHERR A L)
L = 7 A9y b= 130 mm ms= 25mm
AN AGIHIT. #&= 1000 mm
18 fH T N 18 f&pr
o 7Y—REE 0.130 X 0.025 X 1.000
X 18 f5FF = 0.059 m3
HIFLEE= 42 mm HEX= 390 mm
ST HIFLT = &
0.390 X 18 A& = 7.020 m
L 7.0 m
oL 7U—REE w4 X 0.042 X 0.042 X 0.390
X 18K = 0.010 m3
2T YA — g = 130 mm BREX= 25 mm
AW ETE T EHX= 1000 mm
18 f& T N 18 f&pr
R 0.130 X 0.025 X 1.000
X 18 f&5FT = 0.059 m3
A 0029 X 0.025 X 1.000
X 18 f&5fT = -0.013 m3
0.046 m3




4 A Y ¥ &
HEEYIE] T B = 29 mm EX= 25 mm
Foh—(F Fa= \f 42002 + 100 ° = 4201 mm
AL 4201 X 184 — 1000 X 184
— 0500 X 00 A 57.618 m
L, JEFEAAS— AYERR
L /Y—R% 57618 X 0.029 X 0.025 = 0.042 m3
7oA —(GF R&= \/ 4200 % + 100 * = 4201 mm
EAED) 4201 X 18A& — 0000 X I8A&
— 0500 X 00 A& 75.618 m
L, FEFEAAS— 2SR
57.618 + 75.618 = 133.236 m
SL| 1332 m
L /Y—RE 75618 X 0.029 X 0.025 = 0.055 m3
HIERE A L fh 5 e D19 mm
7 H— GERH) 4201 X 18K = 75618 m
(NER)
BRA5 (SD345)  4.480 X 2250 X 18 A = 1814 Kg
ArmEAEOEE 4,201 X 0.029 X 0.025
X 184 = 0.055
A 4100 X 000029 X 184K = -0.021
0.034 m3
EARTRXEE x4 X 0.042 X 0.042 X 0.390
X 184 = 0.010 m3
A 0390 X 000029 X 184K = -0.002
0.008 m3
7= GREH BT MR D19 mm
4201 X 18K = 75.618 m
(NER)
BEA5 (SD345)  4.100 X 2250 X 18 &K = 166.1 Kg
AEmEaEOBE 4201 X 0.029 X 0.025
X 18AK = 0.055
A 4100 X 0.00029 X 18 A& = -0.021
0.034 m3
75.618 + 75.618 151.236 m
SL | 151.2 m
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CLC -V

% &

T—F AL

37— Nk

(i & A7 A+ 1)

i SR AR I T

VT —IRBET

HIFLHA = 7 IHA A~ — 2 GJHI T
a7 H4L T
HERTE Y T

BEEAS D 16 mm

(IER)
kA (SD345)
5060 X 24 X 1560 X

PFRANVE  (HEfHImY 7l 1 HIT)
(5.060 — 0.200) X 2 A -
ER 282 X

0.059
0.010
0.097

457.8
29 B

282
564

58

XN

xV

W

Kg

Sl

W

18 f&FT

457.8 kg

457.8 kg

58 fE AT
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& FR i H K o &
(FRFEHE T)
UM T EiEEE 1.000 X 7 +  3.100 2 9.342 m
T E 1.200 X T +  3.100 2 9.970 m
9.342  +  9.970
) X 4.200 40.555
SA 40.6 m?
VR EEA BE t= 33 mm (3 [E1¥BD)
AR 1.000 X T +  3.100 2 9.342 m
Tt E 1.200 X 7 +  3.100 2 9.970 m
9.342  +  9.970
) X 4.200 40.555 m2
SA 40.6 m2
GG SN 40.6 m2)
B A T BE t= 1 mm
AR 1.066 X T +  3.166 2 9.681 m
Tt R 1.266 X T +  3.166 2 10.309 m
9.681 + 10.309
) 4.200 41.979 m2
SA 42.0 m2
i B HA A T i E R 1.068 X n +  3.168 2 9.691 m
Tt E 1.268 X T +  3.168 2 10.320 m
9.691 + 10.320
) 4.200 42.023 m2
SA 42.0 m2
=TT i EE 1.000 X n +  3.100 2 9.342 m
BRI ERES 0.000 X n +  0.000 2 0.000 m
>L 9.3 m
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VERDIIEAGE T SRRHR

ZA B =X (A G 5 E
(2 i 1)
For' s m2 8.76
ay ) —hEIHL T ¢ 29 X300 fL 124
Ty h—T. D19 ZN 124 Mk
BRET D16 kg 138.0
D13 kg 81.0
27)—h 24-8-25BB m3 2.6
T m2 14.6
(FEAGES ILHEE T)
HAE 7" F30TDUIRI % ¢ zh 4 RIEM & Te
F30TD[A] % it gl 2 RIEM & Te
ABDS IR AT T T 1 6
SRR 1 e BT ek 4 Mt R Lo
e T T ik 4
R B3 T A 4 M AR E e
27— LT ¢ 32 X340 L 16
=T D22 A 16
A VN T U - FTIA - AR A 168
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Eaaiir #F H K B &
(& 4L R 1)
Fov s 0.600 X 4.200 X 2 = 5.040 m2
0.600 X 3.100 X 2 = 3.720 m2
YA = 8.760 m2 8.76 m2
2v))—MEIFL L HIFLEE ¢ 29mm
D29 X 300 HIFLE& 300mm
HIlFLIE T 34 X 2 = 68 fL
28 X 2 = 56 L
IN = 124 fL 124 fL
Tvh—1. (F&E=HE8)
D19 SD345 D19 7S E AN 63 kg 124 A&
(F& IR
SD345 D19 7S E AN 104 ke
63 X 2 + 104 = 230.0 kg
1.85 ke/#
FHAE A &
/4 X T X(0.029 2x  0.300 —
0.019 2x 0.290 )X 68 X 1200 kg/m3
= 9.460 kg
1/4 X T X( 0.029 2x 0.300 —
0.019 2*x 0.290 )X 56 X 1200  kg/m3
= 7.791 kg
SW = 17.251 kg
0.153 ke/#
i L (F&EH0)
D16 SD345 D16 7SN 38 ke
(F&IEER)
SD345 D16 73 AN 62 kg
38 X 2 + 62 = 138.0 kg | 138.0 kg
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4 R i H K B
D13 (B
SD345 D13 73 AN 23 kg
(KB D)
SD345 D13 73 AN 35 kg
23 X 2 + 35 = 81.0 kg 81.0 kg
av))—h (B
24-8-25BB 0.300 X 0.600 X 4.200 X 2 = 1.512 m3
(KB )
0.300 X 0.600 X 3.100 X 2 = 1.116 m3
SV = 2.628m3 2.6 m3
U (HEHm)
{( 0.600 + 0.300 )X 4.200
+ 0.300 X 0.600 X 2 X 2 = 8.280 m2
(KB
{( 0.600 + 0.300 )X 3.100
+ 0.300 X 0.600 X 2 X 2 = 6.300 m2
SV = 14.580 m2 14.6 m2
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& FR i H K ¥ &
(FEAB R L 2 1)
wE =7V (FBHEH)
F30TDUR % 2 X 2 = 4 FH 4 FH
(FEIHIED)
F30TD [F] 4 i = 2 #H 2 %1
TERG S 1k dE & B f T (FEHBHD) (F& D)
HE =7V + 2 = 6 #H 6 #H
SRHLT T 9k
f&& B L 2 X 2 = 4 1 4
(Mrtfism & te)
&5 THh L 2 X 2 = 4 FH 4 FH
R 0 T 2 X 2 = 4 FH 4 FH
(MreEsdimmate)
27 —hEIFL L HIlFLEE ¢ 32mm
D32 X 340 HIFLE 340mm
)L & T 8 X 2 = 16 fL 16 fL
7vh—1T.
D22 16 A&
AR N &
1/4 X T X( 0.032 2x 0.340 —
0.022 2% 0.330 )X 16 X 1200  kg/m3
= 2.842 kg
RVNET T wE LW T WEEHTHR WM R T MR
A REIBYEV N 1 10 + 8 + 12 + 12 ) X 4
= 168 A& 168 A&
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gobooooboboodan

ooooooood 100000 040
O 0O O O O 0 0000 [kg/one 0 O 0 O 0O
PL 78 X 22 453 2 172.7 5.7 11.4|SM400A NET93%
PL 260 x 22 453 2 172.7 20.3 40.6|SM400A
PL 133 x 22 268 2 172.7 6.2 12.4|SM400A
PL 150 x 22 250 1 172.7 6.5 6.5[SM400A
PL 100 x 22 150 1 172.7 2.6 2 .6[SM400A
PL 463 X 22 460 1 172.7 35.0 35.0|SM400A NET95%
PL 410 X 32 490 1 251.2 50.5 50.5|SM400A
0 0 159.0{kg
0 d 636.0(kg 40 0 0
googd M22 110 6 0.695| 0.695 4.2(S10T 000020000000
ogoogo M22 105 4 0.628( 0.628 2.5|S10T 00000000000
0 0 6.7|kg
0 O 26.8]kg 400 0O
0000000000 10000000 040
o 0O O O O O 0000 [kg/one 0 0 0 O 0O
PL 205 x 22 410 2 172.7 14.5 29.0|SM400A
PL 200 X 22 190 4 172.7 5.8 23.2[{SM400A NET88%
PL 190 x 22 155 4 172.7 5.1 20.4|SM400A
Fill PL 90 X 12 410 2 94.2 3.5 7.0{SS400
O d 79.6(kg
O d 318.4{kg 40 0 0
ooooo M22 90 8 0.583[ 0.583 4.7|S10T 00000000000
O d 4.7lkg
0 O 18.8]kg 400 0O
oooo0oooodo 100000 040
o 0O O O O O 0000 [kg/one 0 0 0 O 0O
PL 164 x 25 340 2 196.3 7.9 15.8|SM400A NET72%
PL 85 X 22 97 4 172.7 1.3 5.2|SM400A NET90%
PL 85 X 22 126 2 172.7 1.8 3.6{SM400A
PL 370 X 22 400 1 172.7 25.6 25.6|SM400A
O d 50.2{kg
0 O 200.8]kg 40 0 0O
0000000 D22 710 4 3.04[ 2.158 8.6|SD345 OO0 0 80mm
1000ad M22 4 0.079 0.3
300400 M22 4 0.057 0.2
goodd M22 4 0.019 0.1
O d 9.2lkg
0 O 36.8(kg 40 0 0O
gooooon
HDZ55 50.2]kg
HDZ35 1.6
0 0 51.8]kg
0 0 207.2]kg 40 0 0O
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O0000oooooooo
ooooooood 100000 040
0o 0 0 O 0 0O O 0000 [kg/one [l 0 [ 0o 0
PL 260 x 22 319 2 172.7 14.3 28.6|SM400A
PL 73 X 22 134 2 172.7 1.7 3.4{SM400A
PL 50 X 22 200 0 172.7 1.7 0.0[SM400A
PL 150 x 22 250 1 172.7 6.5 6.5[SM400A
PL 100 x 22 150 1 172.7 2.6 2 .6[SM400A
PL 340 X 22 329 1 172.7 17.5 17.5|SM400A NET91%
PL 410 X 32 370 1 251.2 38.1 38.1|SM400A
PL 630 x 9 370 1 70.7 16.5 16.5|SM400A
0O O 113.2]Kkg
O d 452 .8lkg 40 0 O
googo M22 100 4 0.665[ 0.665 2.7]|S10T 000020000000
ooooo M22 95 4 0.650( 0.650 2.6|S10T 000020000000
googo M22 65 4 0.508( 0.508 2.0]S10T 00000000000
O d 7.3lkg
O d 29.2(kg 40 0 O
Oooo0o0oooon 1000000 040
0o 0 0 0 0 0O O 0000 [kg/one ] 0 [0 O 0
PL 110 x 22 600 2 172.7 11.4 22.8|SM400A
PL 105 X 22 600 2 172.7 10.9 21.8[{SM400A
PL 105 x 22 640 2 172.7 11.6 23.2|SM400A
PL 90 Xx 22 73 4 172.7 1.1 4 _4|SM400A
PL 90 X 22 150 2 172.7 2.3 4.6{SM400A
PL 630 x 9 370 1 70.7 16.5 16.5|SM400A
O d 93.3(kg
0 O 373.2{kg 40 0 0O
ooooo M22 70 12 0.523 0.523 6.3]|S10T 00000000000
0 0 6.3|kg
0 O 25.2]kg 400 0O
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figy T et

ZA o - =X (A ¥ = 1
5 L Hm2
IR L Z€m3
SWEo5 T (1) | HE- B E s % 62
KM LEDHT(2) X = 39
BET T AT A I3l - L5y 7 1
T ER T m3 399.3
HobF T RC—40, t=10cm m2 157.8
IRBEAK B B B T | 0800, k)= i|  m 7.0
T E RS T m3 415.1
Uit JH A ARA - JE m3 594.8
7 ALy T m3 478.8
it TIHEAK T 2V 1
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G CLRE B % B
(K& BEIA 7 1)
25T {( + )X +
X Hm2
TR VX HEEH H= -
X X X Z%m2
(Rfs) 1)
KA+ DH5T.(1) fE%T(2) v
TR B - FEE H= .10 m (B
ER L= 13.10 + 7.10 -+ 11.20
+  35.80 67.20 m
8% N= 67.20 / 1.10 62 4& 62 4%
HREG
1.1 X 11 X zw/4 X 1.08 1.03  msse
1.03 X 62 63.63 m3
KA+ DHT.(2) a1 (1) &b
AR IE EE L= 1890 + 10.40 + 13.30 42.60 m
8% N= 42.60 / 1.10 39 ¥ 39 4&
BE7°TAT Ay il - L5y 1=
+ o548 /1E KYIFLL A /m
20 X 62 + 275 X 7.000 317 kg
TEHHEK L 0.5 X( 100 + 11.5 ) 10.75
/2 X( 05 + 158 )X 9.30 75.80
1/2 X( 15.8 -+ 176 )X 6.40 106.88
176 X  8.00 140.80
/2 X 17.6 X 7.40 65.12
399.35 m3| 399.3 m3
FHOFI) T ( 10.000 + 11.500 + 9.300 + 6.400
RC-40, t=10cm | + 8.000 + 7.400 )X 3.000 157.80 m2| 157.8 m2
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& FR H -V ¥ &
IS B ER S T
¢ 800, MR TFLUE 7.0 m
THEHHERKHET
399.35 + 157.80 X 0.100
415.13 m3 415.1 m3
i R IA - TE T +03
399.35 X 1.33 +  63.63
594.76 m3 594.8 m3
Ay T
415.13 + 63.63
478.76 m3 478.8 m3
oK T
VEZEREHEK 1=

20




WEmifE L 4EEHER

ZA B =X (VA G i =
(s 22 A & 1)

Wi {E1E T BER) ANV B 1 0.021m3
(K psE T)

FEALEE T LT i 1 1.55m2

T&®Y L PRI AN A A 1 1.55m2
BV T S Ve | I 1 1.55m2
RS T i 1 1.55m2
GOk 1)

IR = VAT AAlEE

SOk T B s 11
CUKIM R T)

L F 7L —h Tyt i) 4

EAA A T & P 4
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Eaaiir i HJ K B &
(f& 2tz L)
WrimE1E T
R v—T A NS 1 k6
M w5 THLES @mPrAE mEm2) A5 (m3)
7T AUEB 7o CHE 0.420 0.0084
AL<Pl AlFER 7= CHE 0.070 0.0007
AlER 7o CHE 0.160 0.0016
10 AlBSG 7o CHE 0.125 0.0013
10 A2iBHR 7= CRE 0.060 0.0006
PI~A2 11 A2fGH 7o CHE 0.203 0.0041
12 A2iBR 7= ChE 0.080 0.0008
2t 1.118 0.0175

EEW RSt 0.016 m

MW AME mAEIL. FRZBHED (b+0. D)x(+0. DR NE 5,
0oo0ooooon

50mm

gooog
E§ 0000
”OE’T
gooooooooo
e HhEREE T
EFEzRIY = 1.118 m2
T&®Y L
FHIGHEE T fELY = 1.118 m2
Wr i E1E 1T
AP T fELY = 1.118 m2
fiti L& (ER 3 dm) = 0.018 m3
MBS R (m25%+0.18) = 0.021 m3
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& FR i H K ¥ &
(FRmedE 1)
FALE T 1 4%
LT 0.250 X 3.100 + 0.250 X 3.100 = 1.550 m2
T®BY T FHEAER T EELY = 1.550 m2 1 ¥
P RTAY AN [ 1.550 X 0.900 X 1.18 = 1.646 kg
@y T SV T RIS XD = 1.550 m2 1 15
LY RTA Y AN [ 1.550 X 0.900 X 1.18 = 1.646 kg
ft: EiFeEy T ST LR T A RS LY = 1.550 m2 1 1%
1.550 X 0.13 X 1.18 =wwsmmiss - = 0.238 kg
1.550 X 0.15 X 1.18 X 2
RUvL 2o filgde = 0.549 kg
(S A5 1)
A BhEE T
R N SN i = 11 3%
Al W) 2 #Xx 0.13 m2= 0.26 m2
P1 [#EE 2| H X 0.13 m2= 0.26 m2
P1 Wl 2 Hx 0.13 m2= 0.26 m2
A2 [EE 2 Hx 0.13 m2= 0.26 m2
A2 FeHTE 3 Hx 0.04 m2= 0.12 m2
&t 11 5 1.16 m2
(S AT B 1)
L F7V—h 4 #AH
AN A
A4 AT L 4 T
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R SRR

ZA B =X (A G 5 E
R ay 27 1 114 J—7ny/ 1 RIS
HER 7 myJ fEAT T 2.5tLL T (i 114
W B 1A R fE T t=10mm m2 263.8
T &l T 2t/ N 11
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& FR G = % B
HR Ty
2.0t H| XD 114 &
AR v ¢ 16))
B LD = 136 @
HER 7 my s PEfE T
2.5tLLF 114 {#
W G 1R A B 1
t=10mm 16.400 X 16.400 - 5.19 = 263.770 m2| 263.8 m2
iR
2t H 10.860 + 12.800 + 5.99 = 29.650 m2
29650 /( =w/4 X 1.9 X 1.9 )= 10.457 ¥ 11 4%
H| 5547 (50~200mm)
29.650 X  0.580 = 17.197 m3
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